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| 8.  PRACTICE FACTORING DIFFERENCES OF SQUARES |
Remember the difference of square formula is given by:

(a*> = b*) = (a—b)(a+b)

Factor each of the polynomials given below. Use the difference of squares formula.
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| 9 TRANSFORMATIONS OF GRAPHS

(. from  Lessons {1 — Il)

Below is a graph of a function f(x).
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9C. Sketch a graph of h(x) = 3 — f(x + 2).
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l 10. FIND COMPOSITION OF FUNCTIONS | Lesson 13) |

Let f(x) = x? — 3 and h(x) = 2x + 1. Find each of the following:
10A. (ho £)(3)

10B. f(h(x))
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[11. SOLVE EQUATIONS ALGEBRAICALLY |

Solve each of the following equations. Show your work.
11A. 2+3|x-2|=11

11B. 1+V3x—-5=x
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[12. FIND THE INVERSE FUNCTION _ {Lesson i4) l

Use algebra to find the inverse of the following functions.

4x—-2
3x+1
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r13. GRAPH USING VERTEX FORM OF QUADRATIC
Consider the standard form for a quadratic function:

fx)=x*—8x + 8
13A. Convert f(x) into vertex form.
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For f(x) = x2 — 8 x + 8 from problem 13A above:

13B. Sketch a graph of f(x) using the vertex form.
13C. Find the min/max value of f (x)
13D. Find the domain and range of f(x)
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